
1) Convert the following mixed number 
96/7 to an improper fraction.

Answer: ____________

2) 12/6 ÷ 56/7

Answer: ____________

3) Solve 4q2 - 3q - 12 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

4) 8 x 1000

Answer: ____________

5) $43.00 earning 7% compound interest 
for 2 years.

Answer: ____________

6)

A B = 20
Find the Angle at side A.

Answer: ____________

7)
Find the next three numbers in 
the sequence
36,28,42,34,48,40,54__,__,__

Answer: ____________

8) (2 x 38) + (10 x 78)

Answer: ____________

9) (2 x 38) + (10 x 78)

Answer: ____________

10) Round 2.158038 to the nearest 1000

Answer: ____________

11) Share 30 in the ratio 10:20

Answer: ____________

12) (2 x 54) + (1 x 45)

Answer: ____________

13) $227.00 earning 9.6% compound 
interest for 4 years.

Answer: ____________

14) $179.00 earning 9% compound 
interest for 3 years.

Answer: ____________

15) 'What is the probability of rolling a 
number less than 6.when rolling a 
dice

Answer: ____________
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16) Find the percentage change from 4 to 
6

Answer: ____________

17) Find the percentage change from 4 to 
6

Answer: ____________

18) Decrease 96 by 3/32

Answer: ____________

19)
Find the next three numbers in 
the sequence
0,1,1,2,3,5,8__,__,__

Answer: ____________

20) 1/89 of 178

Answer: ____________

21) Find perimeter of 
triangle
h = 86 , a = 90 in,
b = 97 in, c = 100in

Answer: ____________

22) 6   6/9 - 4   3/4

Answer: ____________

23) Round 23.2940 to 1 significant 
figures.

Answer: ____________

24) Simplify 15:9

Answer: ____________

25) 17 - 2 x 3 + 18

Answer: ____________

26) $56.00 earning 7% compound 
interest for 5 years.

Answer: ____________

27)

Name the type of angle.

Answer: ____________

28)
20 Find Volume of 
                         Hexagonal Pyramid

19
19

Answer: ____________

29) Convert the following fraction into a 
mixed number: 7/6

Answer: ____________

30) 10/5 - 2/12

Answer: ____________
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Total: ___ / 30
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Answers:

1) 69/7 2) 28/123 3) q = 2.1 or -1.4 4) 8000 5) $49.23 6) 160 7) 46,60,52,

8) 57661132 9) 57661132 10) 2.158 11) 1 : 29 12) 2274 13) $327.54 14) $231.81

15) 5/6 16) 50% 17) 50% 18) 87 19) 13,21,34, 20) 2 21) 287in

22) 111/12 23) 20 24) 5 : 3 25) 26) $78.54 27) Acute 28) 6252.7034153236

29) 11/6 30) 15/6
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